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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVl ETcl’, 'setVI fgRec', 'setVI VN,

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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FRV (ml plant-1)
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BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

07:05 95 80.0 1.728 = {RRiB@07:05 B (RFAKEE)
08:05 95 80.0 1.728 =] {Ri%e08:05 B (L)
09:20 95 80.0 1.728 = RRi8009:20 Bzh (REAEEE)
10:35 95 80.0 1.728 = {Ri%@10:35 B3 (RAERSE)
12:20 95 80.0 1.728 =] Ri%e12:20 B (RFAERE)
13:45 95 80.0 1.728 (2 =| 1BRiBe13:45 Bz (REEFREE)
14:55 95 80.0 1.728 |Z=| 1BRige14:55 Bzh (REERESE)
16:10 95 80.0 1.728 | =| 1BRi%e16:10 Bz (kAEREEE)
23t| 760.0 (8%) 640.0 323 KEC: 2800.0, PH: 6.5
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LEORGEBIPH (11.3) 5i&EE (6.5) RERKK, BRE.
LORGEBIPH (11.3) S5#REIEN (6.5) RERK, BRE.
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BYE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

08:45 95 80.0 1.728 Z| 1BRige08:45 Bzh (REERSE)
11:00 95 80.0 1.728 FA| 1B2i%@11:00 B3h (kAEREE)
14:15 95 80.0 1.728 FE| 1Ri&e14:15 B (REAERSE)
21| 285.0 (3%) 240.0 32 03KEC: 2800.0, PH: 6.5

EOREBATHCR AR BIZ I (95 vs 125.0))
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ERGEBIPH (10.8) 5iREME (6.5 RERK, BHRE.
ERGEBPH (10.8) SHEEIEW (6.5) RERK, BEE.
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BYE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

07:50 92 80.0 1.728 FA| 1BRi%@07:50 B3h (KRA{ERSE)
09:15 92 80.0 1.728 FA| 1B2i%@09:15 B3h (kA{EREE)
12:15 92 80.0 1.728 PH| {Ri%e12:15 Bz (RAHFES)
23| 276.0 (3%) 240.0 3203 KEC: 2800.0, PH: 6.5

ERBBAR LR/ (0.47 vs 0.59), FIREE S MREEREEEEIKERE
MERRHERE STHAE AR (88.0 : 120.0), AJEEKEREERE
ERGEBET R IZIER N (188 vs 125.0))

2RI\ PRIERE120. 0 ml.

REXGEBIPH (10.36) 5i&EPH (6.5) RER K, FHE
RERSEBPH (10.36) 5FEMPH (6.5) BEK L, FHRE
BEERECZE (1823.0 vs 2500.0) RS

EREEPH (10.4) 5i8FE{E (6.5) REK A, BHRE.
EREBPH (10.4) S5REEW (6.5 RERK, HFRE.
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